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1. Let ¥ =[-1,3,4],7 = [2,1,—1]. Compute the indicated quantity (), if it is defined.

|7 -2 = ||[4,—5, 9] = Vi22

2. Express the entry in the (i, j)-position, which corresponds to the i-th row and j-th column, of
AB using only the entries of matrices A and B.
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SOLUTION Quiz 2 FEE— iR B

Circle each of the following True or False and then give a counterexample (fzfjll)
for the false statement.

. True There are exactly two unit vectors perpendicular (EH) to any given nonzero
vectors in R".

Solution :

For n = 3, €1 = [1,0, 0] is perpendicular to every vector in S = sp(és,€3) = sp([0, 1,0], [0, 0, 1]).

’

. True Let A be an m x n matrix, and let €; be the n x 1 column vector whose j-th
components are 0. We have A€, is the j-th row vector of A

Solution :
1-3 #41 (a)

A€, is the j-th column vector of A

. True If AB=0, then A=0 or B=0.

Solution :

o il b 2] =
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